& RE

1.3.14 X 67 +8.2 X 31.4—90 X 0. 314
= 3.14 X67+82X3.14—9 X 3.14
= 3.14 X (67+82—9)
= 3.14 X 140
== 4896
212,653 1.0 0. 8
= 12.65+(12.8 X0.8)
12. 65 =+ 10
= 1. 265,
3.16.92+[2.64 X (5.6 —2.1) +0. 16]
— 16.92 = (2. 64 X 3.5+ 0. 16)
= 16.92 = (9. 24 + 0. 16)
= 16.92+9.4
=1.8.
4,(32X0.63X0.95) + (1.6 X 21 X1.9)
=(32+1.6) X (G 21) X (0, 95.=-1.9}
= 20X 0.03 X0.5
=, 3, ,
5. H1la] #AAMT a BWEKEL, (a) RN a KW/DNEERTT 15
A7 =4 126 = 0. 8,345} = 3
Haxb=(a+0b)=(b—1),18
(2.6} *[3.5]=(0.6F3)+=(3—1)=3.6+2="1.8,
BT LA (4. 1]+ (2.8 %t 3.5 =4+ 1.8=5.8,
6. M B e B 45 SR 1 i -
Bdw24Ems5,%F 107, 0 d = (107 —5) =2 = 51;
Bl 24Ems.ZFHd Nc=(51—5)+2=23;
BoW 2455, 5T c, b= (23—5)+2=9;
o §P



BalW2EmMS.FFHbOWam~(Q—5) +2=2,
Bl 8 a 2 2,

7. 2030 (6X12) = 20 — 3(6—3 X 2) = 20 — 0 = 20,

8.2 WIERE, BELL 2,4,8,6 fHEAHIBL, A& 4.
B K 2012 =4 = 503,
FriL,20127 RS 6.

TR, BB 3,9,7, 1L 1A B, 2 4,

B K 2013 =4 = 503++++-- g,
BT A ,2013%°" U 3.

4 BT, BELL 4,6 B H I, B 2,
B K 2014 + 2 = 1007,
FRLL,20147" BB 6.
H I, (2012%°12 4+ 2013%°1%) X 2014%°" MBI BEER (61 3) X6 =
54 MBRE BPFTRE R R 4, ‘

9. FAREE 30 YRKH 50 AR B HIET, 55 29 Kk H i IR Bk

A1 B B 55 28 YCUK H 2 YL A 1 A B 5 27 ORI BT K

H B A T A 30 YR\ 29 WK .28 WK A AE B AR N A5 2]
50 + 25+ 5 = 80(A),
10. i HEZ 5 AT RAGIE 58 » 158 » DG R, XS 80H
142+ 4100 = 5050(A),
B J5— 1% n = 5050,

1. % — 0. 384615, /NESUS I BCF 4G 6 A H— LG 3Rt 31

ES S| 1000 = 6 = 16622+ 4,

i LA/NE S R 568 1 P2 EN 5 1000 A7 89 Bir A 0 i 0 N
(348 £ a6 4 145D X 166 (3 4+ 8+ 4+ 6) = 4508,
12. 651000 = 595 = 1094+++++:70,

A4 651000 + (595 — 70) = 651525 fE#k 595 %,

T LA ,651 J5 HES B = A 80 525,
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13. H— /DS — B0 2 201. 3, BT FIZNECRY /N B s HE
AN B N A B 2 ] B X A AL EOI N B TR AR R Sk 1
TaZ— bkt =% 201 3+ 1 52 183,

14, X TFEWFH . BASE— R . K FLLES 55 A
B BB =X,

15, XU F R DL 4 RBMKIK A 0,2,2,0,2,2,0,---,

3 100 + 3 = 33++-+--1,
It LA B 5 — P RUBR DL 4 AR B 0.
16. A4 2006 = 2 X 17 X 59,

15 =85 = (2 <4 1) X (44l

BXPTEHAB A N =a> X0, a,b82,17,59 PRIEFEBH

T N B, B N B b . B
3+ 1) X (5+1) X (1+1) =484,
M oa,b A%ETF 2,17,59 B, BN L. 45
C+DXU+D XA+ XA+ XA+1) = 12004,

17. 1V ANPIECFE R L2V LT 2 2,3V IR B 2 6,4
B ALEF R 4,5 BT 0,6 VI MBS & 0, mee e
A A 0 e LT AT $ &R T 0,
it LA nln> 4 WPNPLEFR O,
B b 2 = 3k e + 2013V N BFETF1+2+6+4 =
13 WML E0F, B 3,

18. 3L 3 X AIZREM 3 XMEFES5.5+5 = 10.5(n),
FrPASE 6 4 6 T RHREELN 10.5 X 2= 21(n),

19, WSR2 R ARA 1 FERE, 3 ANMIEN 1 AN RURAG 4 FhERE .1
ANBRPEIN 2 ANFRA 3 FPERE T LL—384 1+ 4+ 3 = 8 EFE.

20. K125 115,200,319 LR KT 1 89 H ARG , I 19 R B0 AH
[, B A 115,200,319 H{EE PSS 2 RE B X S BB B TSR 9 A
SRBCBE 2 200 — 115 = 85 i BRI, X & 319 —200 = 119 ¥ B &, to 5kt
J= 85 il 119 A H £, 5 Jiax 4~ B 2R B 17,

2014 == 17 = 118¢+++:» 8,
. %4
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21. 53— ¥ Horp — BB G — P E LB X B 48 N R
iy 0.1 4%, H 55— B, B ok ] %0, Ok B B4 B BRI
BOR BB 10 £5, 1 B AT A 1078, #8 R HUE

1078 = (10+1) X 10 = 980,

22, H— 2B AR /N BUS S T L XURIKTE £ 1 T 623. 25 I, A A
R X R /NBUE AR T — 0L, a2 YT KON ER R 10
L HERZ T 945, B EOR X B2

623. 25+ 9 =69. 25(L),

23. YT T4 BB SR a 43 WG =2 B F B EE0N (a+ 1D

A B2 EaR3a+1) = 3a+3(4);
Hi-E 4 RS (a — 3) 7, Rl -E 4 B &
TCa+8) = Ta+21m),
IRYE AP R el AP
(7Ta=21) — (3a + 3) = 4a — 24(%),
N AR E LAWY ERSN 84 7, T2
da—24 = 84 X 4,818 a = 90,
AT B = 4 9 - 2 L5 h
a+1=90+4+1=91(%),

24, [ 4 JE R B LA Boh B — A8k 30 JE L FRECE I T,

It A G 3 JUAS B0 705 R JUAS B0 Fn 2z 25 3002 30 5 BBl Al I &K

b e B 18 X 9~#16 X9 =18,
JE K Y & 2 30— 18 =12,

25. Hﬂﬁgﬂ:(1,1,1),(2,4,8),(3,9,27) ,"',(n,n X NN >< n >< 71)’
A] 41465 2013 415 (2013,2013 X 2013,2013 X 2013 X 2013) , R4
B = AN BCE S B2 3,9, 7, UMM BUFE = 9.



